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Tu =7Zu=55830,07 N (kombinasi 3 )

D =52mmpanjang 4,5 (114mm)
0z =0,65
A =080

Fyvb =2400kg/cm = 244,648 Mpa
Fm =Fs=46 Mpa
Re =Fem/Fes=1

KD =038D+0,56 Untuk4,3 <D< 64mm
=0.38 ( 5,2) + 0,56
= 2,536

p=114—-101,6 = 12,4



Moda Kelelehan

Is:7 — 3,3 Dts Fes _ 33X52X254X 46 — 7906.05 N

ED 2,536

2Fyb(1+2Re)D 2 2 x244,648 (1+2)5,2/2.

I11 111:I{1=(—1j+\l2{:1+£'€:}+ =(—1)+\/2{:1+1)+

3 Femp 2] 3xd6x12 .4 2]
3.3k1D pFem 33x 1423 x 5,2 x12.4 xd6
7= - _ — 1830,759 N
KD (1+2Re) 2,536 (1+2 x1)
. 2(1+Re 2Fyb(1+2 Re D.EJ% 2(1+1 2X 244648 (142.1 5.2.2.'.1
Ills : K2 = (-1)+ |22Re) 2RO CEH2RDS gy 4 [2EHD (2222 1,107
: : Re 3Fem ts 2! : 1 2X46 X 25.4.2:-'
3.3k2D ts Fes 2.3 x1,107x5,2x25,4x4.6
= = = 2917,3N

KD(Z+Re) 2,536

2 i § 2. -
2,30, 2Fem Fvh 2,3x5,21% 2xdbx2dd, 648
V-7 = - = 2155.066
KD 3(1+Re) 2,536 3(1+1)

Sambungan tampang 2, nilai Zmin dikali2
Z =2xZminxcmxcrxcs =2x1830,759x0.8x 1,0 x1,0 = 2929,204 N

Zu< AQz Z'nf

Nfz= 2% — 2>830.07 = 38 buah ~ 40 buah

Apz Z' 0.8x0,65x2929,204




